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§8.2 RMK1C 8.2.1 d α1, α2, · · · , αm j n tV3E8 V ��*~J�a (αi, αj) = 0, 1 ≤ i 6= j ≤ m, �	s�* F5B:. a1O) |αi| = 1, 1 ≤ i ≤ m, �	s -HF5B:.1C 8.2.2 d ξ1, ξ2, · · · , ξn j n tV3E8 V ��'2�a (ξi, ξj) = 0, 1 ≤ i 6= j ≤ n, �	�'2j V ��'�;2�a1O) |ξi| = 1, 1 ≤ i ≤ n, �	�'2j V ��' -HF53.9 1 �YhE8 R

n $� ε1, ε2, · · · , εn j�'�&�;2�~J* α1 = (1, 0, 0, · · · , 0)T , α2 =

(1, 1, 0, · · · , 0)T ,α3 = (1, 1, 1, · · · , 0)T ,· · ·, αn = (1, 1, 1, · · · , 1)T j�'2���j�&�;2�=? 8.2.1 d ξ1, ξ2, · · · , ξn j n tV3E8 V ��*�&�;2���_�� α ∈ V , �
α = (α, ξ1)ξ1 + (α, ξ2)ξ2 + · · ·+ (α, ξn)ξn.G< d α = a1ξ1+a2ξ2+ · · ·+anξn. � (ξi, α) = (ξi, a1ξ1+a2ξ2+ · · ·+anξn) = ai, 1 ≤ i ≤ n.

2 D8 8.2.1 YhE8 V $�_/�*II�;�$L~J�}�w)�G< d α1, α2, · · · , αm j V $II�;�~J*�a
a1α1 + a2α2 + · · ·+ amαm = 0,���_�� i, 1 ≤ i ≤ m, �

(a1α1 + a2α2 + · · ·+ amαm, αi) = 0.� (αi, αj) = 0, ( ai(αi, αi) = 0. Æ� αi 6= 0, ( ai = 0. 218 8.2.1(Schmidt F5218) ��YkE8 V ��'}�w)~J* α1, α2, · · · , αs, ����;�u~J* γ1, γ2, · · · , γs, g���_�� r, 1 ≤ r ≤ s, (�
span(α1, · · · , αr) = span(γ1, · · · , γr).G< ��}�w)~J* α1, α2, · · · , αs, A� Schmidt �;0
β1 = α1, β2 = α2 −

(α2, β1)

(β1, β1)
β1, · · ·

βr = αr −
(αr, β1)

(β1, β1)
β1 −

(αr, β2)

(β2, β2)
β2 − · · · − (αr, βr−1)

(βr−1, βr−1)
βr−1, 3 ≤ r ≤ s.
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{^�
{α1, α2, · · · , αr} = {β1, β2, · · · , βr},

1 ≤ r ≤ s. xR�S β1, β2, · · · , βs II�;�� r +n�*U!�lz� (β1, β2) = (α1, (α2 − (α2,β1)
(β1,β1)

β1) = (α1, (α2 − (α2,α1)
(α1,α1)

α1) = (α1, α2)− (α2,α1)
(α1,α1)

(α1, α1) =

(α1, α2)− (α2, α1) = 0.6d β1, β2, · · · , βr−1 II�;�xR�S
βr = αr −

(αr, β1)

(β1, β1)
β1 −

(αr, β2)

(β2, β2)
β2 − · · · − (αr, βr−1)

(βr−1, βr−1)
βr−1 = αr −

r−1
∑

i=1

(αr, βi)

(βi, βi)
βi� β1, β2, · · · , βr−1 II�;�if
��_� j, 1 ≤ j ≤ r − 1,

(βj , βr) = (βj , (αr −
∑r−1

i=1
(αr ,βi)
(βi,βi)

βi)

= (βj , αr)− (βj , (
∑r−1

i=1
(αr,βi)
(βi,βi)

βi)

= (βj , αr)−
∑r−1

i=1
(αr ,βi)
(βi,βi)

(βj , βi)

= (βj , αr)− (αr ,βj)
(βj ,βj)

(βj , βj)

= (βj , αr)− (αr, βj)
= 0

.o
 β1, β2, · · · , βs II�;��A��u0�
γi =

βi

|βi|
, 1 ≤ i ≤ s.� γ1, γ2, · · · , γs j�;�u~J*\

{α1, · · · , αr} = {β1, · · · , βr} = {γ1, · · · , γr},

1 ≤ r ≤ s. 2�; 8.2.1 �|tYkE8���&�;2��; 8.2.2 �|tYkE8 V �_��u�;*�DFs V ��&�;2�9 2 ℄�~J* α1 = (1, 1, 1, 1)T , α2 = (1,−2,−3,−4)T , α3 = (1, 2, 2, 3)T �7��'�;�u~J*�6 zG
 Schmidt �;0#!℄
� α1, α2, α3 �7��;~J*�
β1 = α1 = (1, 1, 1, 1)T ,

β2 = α2 −
(α2, β1)

(β1, β1)
β1 = (1,−2,−3,−4)T − 1− 2− 3− 4

1 + 1 + 1 + 1
(1, 1, 1, 1)T

= (1,−2,−3,−4)T + 2(1, 1, 1, 1)T = (3, 0,−1,−2)T ,

β3 = α3 −
(α3, β1)

(β1, β1)
β1 −

(α3, β2)

(β2, β2)
β2

= (1, 2, 2, 3)T − 1 + 2 + 2 + 3

1 + 1 + 1 + 1
(1, 1, 1, 1)T − 3− 2− 6

9 + 1 + 4
(3, 0,−1,−2)T
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= (1, 2, 2, 3)T − 2(1, 1, 1, 1)T +
5

14
(3, 0,−1,−2)T = (

1

14
, 0,− 5

14
,
4

14
)T .�: β1, β2, β3 �u0���

γ1 =
1

|β1|
β1 =

1

2
(1, 1, 1, 1)T = (

1

2
,
1

2
,
1

2
,
1

2
),

γ2 =
1

|β2|
β2 =

1√
14

(3, 0,−1,−2)T = (
3√
14

, 0,− 1√
14

,− 2√
14

),

γ3 =
1

|β3|
β3 =

14√
42

(
1

14
, 0,− 5

14
,
4

14
)T = (

1√
42

, 0,− 5√
42

,
4√
42

).

γ1, γ2, γ3 4jo℄~J*�d η1, η2, · · · , ηn . ξ1, ξ2, · · · , ξn j n tYkE8 V �I'�&�;2� T j�2 η1, η2, · · · , ηn� ξ1, ξ2, · · · , ξn �,�C��4
(ξ1, ξ2, · · · , ξn) = (η1, η2, · · · , ηn)T.5 T = (tij)n×n, �

δij = (ξi, ξj)
= (t1iη1 + t2iη2 + · · ·+ tniηn, t1jη1 + t2jη2 + · · ·+ tnjηn)
=

∑n

k=1

∑n

l=1 tkitlj(ηi, ηj)
=

∑n

k=1

∑n

l=1 tkitljδij
=

∑n
k=1 tkitkj .o
 T TT = E.1C 8.2.3 f n ?#� T 	s F5E, `+ T TT = E.=? 8.2.2 d T, S s�;���

(1) T DX\ T−1 s�;��
(2) TS s�;��G<  >��� 218 8.2.2 d ξ1, ξ2, · · · , ξn . η1, η2, · · · , ηn j n tYkE8 V �I'~J*�O)

(ξ1, ξ2, · · · , ξn) = (η1, η2, · · · , ηn)T,Z$ T j n ?f#���
(1) a ξ1, ξ2, · · · , ξn . η1, η2, · · · , ηn j n tYkE8 V ���&�;2�\ T j�;C��\j�2 η1, η2, · · · , ηn � ξ1, ξ2, · · · , ξn �,�C��
(2) a η1, η2, · · · , ηn j n tYkE8 V ���&�;2� T j�;C��� ξ1, ξ2, · · · , ξn j n tYkE8 V ���&�;2�
(2) a ξ1, ξ2, · · · , ξn j n tYkE8 V ���&�;2� T j�;C��� η1, η2, · · · , ηn j n tYkE8 V ���&�;2�18 8.2.3 d A jf n ?#���xK�m�7�
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(1) T j�;��
(2) T T = T−1;

(3) T �K~JjYkE8 R
n ��&�;2�

(4) T ��~JjYkE8 R
n ��&�;2�18 8.2.4 d U jYkE8 V �'E8�M

U⊥ = {α ∈ V | ��_�β ∈ U,��(α, β) = 0},�
(1) U⊥ j V �'E8�
(2) V = U ⊕ U⊥.G< (1)  >���
(2) a α ∈ U ∩ U⊥, � (α, α) = 0, o
 α = 0, �Æ U ∩ U⊥ = 0.xR�S V = U+U⊥. �_� α ∈ V , ÆqN 8.2.1����� U ��*�&�;2 {ξ1, ξ2, · · · , ξm}.M

β = (α, ξ1)ξ1 + (α, ξ2)ξ2 + · · ·+ (α, ξm)ξm,� β ∈ U . �M γ = α− β, ��_� ξi, 1 ≤ i ≤ m, � (γ, ξi) = (α, ξi)− (β, ξi) = 0. o
 γ ∈ U⊥,� α = β + γ. �� V = U ⊕ U⊥ 
H� 21C 8.2.4 d U jYkE8 V �'E8�	
U⊥ = {α ∈ V | ��_�β ∈ U,��(α, β) = 0},s U � F5.74.9 3 d A jfn�
 m× n C�� U j A ��~Je
�'E8� V j}�#�* AX = 0 ��E8�� V = U⊥, \ R
n = U ⊕ V .G< d A ��~Js αT

1 , α
T
2 , · · · , αT

m, � U = span(αT
1 , α

T
2 , · · · , αT

m). �� AX = 0 �_��
β, �s Aβ = 0, 4 (αi, β) = 0. o
 V ⊆ U⊥. "��d β ∈ U⊥, � (β, αi) = 0, 1 ≤ i ≤ m. (
Aβ = 0. o
 U⊥ ⊆ V . �� V = U⊥.vQ���U ∩U⊥ = 0. if
�d α ∈ U ∩U⊥, � (α, α) = 0, o
 α = 0. ( U +V = U ⊕V .��s dimV + dimU = n, 4 dimV + dimU = n, ( R

n = U ⊕ V .9 4 d B j#s 2 � 5× 4 C�� α1 = (1, 1, 2, 3)T , α2 = (−1, 1, 4,−1)T , α3 = (5,−1,−8, 9)Tj[�}�#�* BX = 0 ��~J�℄ BX = 0 �E8��'�&�;2�6 r(B) = 2, o
�E8�tnj 2. B��� α1, α2 }�w)�D,s�E8��*2��

Schimidt �;0#!�M

β1 = α1 = (1, 1, 2, 3)T ,

β2 = α2 −
(α2, β1)

(β1, β1)
β1 = (−1, 4, 1,−1)T − 1

3
(1, 1, 2, 3)T = (−4

3
,
2

3
,
10

3
,−2)T .�B,�u0���

γ1 =
1√
15

(1, 1, 2, 3)T , γ2 =
1√
39

(−2, 1, 5,−3)T .
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� γ1, γ2 j BX = 0 �E8��'�&�;2�A?
1. d ξ1, ξ2, · · · , ξn j n tV3E8 V ��*�&�;2� α = a1ξ1 + a2ξ2 + · · · + anξn,

β = b1ξ1 + b2ξ2 + · · ·+ bnξn, �
(α, β) = a1b1 + a2b2 + · · ·+ anbn.

2. 	� α1 = (0, 2, 1, 0), α2 = (1,−1, 0, 0), α3 = (1, 2, 0,−1), α4 = (1, 0, 0, 1) jYkE8 R
4 ��'2���'2+ Schimidt �;0�℄ R

4 ��'�&�;2�
3. ℄[�}�#�*

{

x1 − x3 + x4 = 0
x2 − x4 = 0��E8��&�;2��℄��E8�;�o�~J�

4. d V1, V2 j n tYkE8 V �'E8�
(1) (V ⊥

1 )⊥ = V1;

(2) V1 ⊆ V2, � V ⊥
2 ⊆ V ⊥

1 ;

(3) (V1 + V2)
⊥ = V ⊥

1 ∩ V ⊥
2 ;

(4) (V1 ∩ V2)
⊥ = V ⊥

1 + V ⊥
2 .

5. (1) f�<�j�;���Z�<�s ±1;

(2) 
 (x) b<�j�;���Zs�<�\�<�s ±1;

(3)

(

cos θ − sin θ
sin θ cos θ

)

,

(

cos θ sin θ
sin θ − cos θ

) j�;�\ ?C�W,s�;��"Wj`
I%�h�
6. d α1, α2, · · · , αm j n tV3E8 V $�$L�;~J*� α j V $�_�~J��SxR�

(Bessel /0>)
m
∑

k=1

|(α, αk)|2
|αk|2

≤ |α|2;\�-
H��%��p9j
α ∈ span(α1, α2, · · · , αm).
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